the 13o] A AB = 9 0 9] x| 20|11, ABLCD °|t}. OM = MB
o|11, Htx]Z0] 8cm ¥ W], CD 2] do]&?

L7,
Nl

D

@ 10cm @ 10v2cm ® 8+3cm
@ 12cm ® 12v3cm



2. T 1Yol 90 oA AT REol A
Yol=? (@, AB = OD)

® 35cm? @ 40cm? ® 52cm?

@ 60cm? ® T72cm?



3.

o2 "I Zol H P oA @ O 9
o)1, /AOB = 120°, PB = 4V6cm &

@O OP = 8v2cm
@ AP = 4+6cm
3 AB = 4V6cm
@ (542 A0BY] Fol) = V02

3
® (0OAPBO] =d|) = (8 V2 + 8V6)cm




® 3AB=CD
VR N
® 5.0ptAD = 5.0ptBC

® 3AB < CD

@ 3A0AB = ACBD

~ R
@ 35.0ptAB = 5.0ptCD






212 o]

o] d AB 7}

@ 257 ® 30

® 20

@ 157

@ 10n



TS 2o A 5.0ptAB L HHH]=
o] o7k 10 91 o] dF-Zort.
AD =6 o, CD o] ZAo]=9

@ 1 @ V2 ® 22

@ 2



042 1204 5.0ptAB = 220 2
o7} 26 91 ¢e] YR-Holck. AB = 20
o, AABC 9] Hol]=?

@ 10 @ 20V2 @ 20

C
J
A\\ D ”/’B
~igp---
@ 25 ® 2445



A

® 157 @ 187 @ 22n @ 257

® 307



10.

JNA AT £ 2152 Bol7ts <)
20 9 HHeIT H A & FHolu.

/BAO = 30° & o, CT ¢] dol& +
57

D 6 @ 8 ® 10
@ 12 ® 13



11. the 2ol A 5 24 PA, PB & ¥159] Zol7}sem €1 € 0 ]
Aol 1 H A, B = oItk PA = 12em® ), AB ©] o]

120
@ 24cm @ —-cm ©) 73 o



12.

o2 1”olA S4o] A, B o]al HhA]
S0l ZrZt 6em , 2cm Q1 2 7He] o]
C oA sk Qick. 2719 A3 47}
AP, QoA Hoh= 35 HAdat A4
AB ¢to] W& Dt g of, At R2
o] Wole?

@ (18V2-37) cm? @ (18 V2 - 67) cm?
® (183 - 37) cm? @ (36 — 6m) cm?

® (183 — 67) cm?



13.

o2 2H9A4 9 0 & AABC 9 Y
HYol1, Al A D, E, F = HHo|ch
AB =18,BC = 14, AAGH ¢} Ed9]
Zol7k 20 & W, AC ] ZAo]=?

® 10 @ 12 ® 16




14.

D 9v3cm
@ 12vV3cm

@ 10 \/gcm
® 13V3cm

Ao gBE 18cm B HojlA 11

® 11v3cm



15.

e DN PAEL 09 A
oA Hsta, AR PO 9o AFAY
¥ 0 7} = HES B 2 gt
(APB 9] o] 52 0] AB 9} Bt
A& C 2 g, /PCA 9 A7)
T-otdA?

o

ia

e

@® 25° @ 30° ® 45°

@ 50°

® 60°



